N & o & AF & H A A
20168 & =04k Xk 2el SE3H &
A2 M
Aot & 2el
Klot== 2tel(Xliots 22l SE3) (&)
SA - BB B () - MM - BES Ol &t o San HmEET
SRR R} 623,275 476,649 146,626
b~ & 2te) 623,275 476,649 146,626
|5t~ 2tel (Kot el SE3H) 623,275 476,649 146,626
Aot |22l 51,372 32,166 19,206
101 @14 dl 18,586 0 18,586
4 D12t ZE2XREES 18,586 0 18,586
OXlot==2t2| JI2tHZ 2 Xt 18,586
jliaa] 64,1503 x1H*210 13 13,472
RPN =) 64,1503 x1H 432 13| 2,759
- PNE = 64,1503 «1F 10 13l 642
- UAZEE R2E3 16,873,000 *4.5% 760
- 30ALEE 2= 16,873,000 *3.035% 513
228 FE= 16,873,000 *1.5% 254
MHEE 2E3 16,873,000& *0.9% 152
LRI RAEE REHS3 513,000 *6.55% 34
201 2yt 2 Y| 27,286 14,186 13,100
01 At 22l 3,796 3,296 500
Oget=&H| 3,296
MA=LDXNMH HE S 66,0003 x6E8F A 396
TeH &4 190,000& =104 1,900
Not=2ed EES(S82Y)ME
500,000& *23] 1,000
OXots=22Ad = 100, 000& x5H 500
02 =224l 23,490 10,890 12,600
02322 %2 HA 1,890
DN s 2B 300& »2,500AH 750
Kot BEx2=5Y S4H|
5,000& x19CH 123 1,140
OA&ZHIKA 21,600
- Kot EXZEY KX 2t
1,200,000 =184 A 21,600
202 oddl 1,000 1,000 0
01 SLHOYI 1,000 1,000 0
OXlote= W=, MOIUH S A
250,000 »2H 23] 1,000
203 YR =2l 500 0 500
03 AIMFAH S =AY 500 0 500
OXlot=2t2|R3s 23 500,000& 500
401 Al HI X 201 4,000 16,980 A 12,980
1T A& HI 4,000 16,980 A 12,980
OXot &X3 &= 2,000,000& 23 4,000
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A M

Aot & 2el

Klot== 2tel(Xliots 22l SE3) (&)

= - — SHE]|

SN HH-S(BN) - MBAY - B Ol &k o8 il HlnE2

[ {M=1Rs]! 571,903 444,483 127,420
801 Gildl bl 571,903 444,483 127,420
01 LBHoil bl bl 571,903 444,483 127,420

Ooulgl bl 571,903,000 571,903
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